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[ O 0O O 1.What time does the conversation take place?A.
Christmas. B. Rush hour. C. Spring.2. Who is the woman mostly like
to be? A. Mr. Blacks boss. B. Mr. Blacks secretary. C. Mr. Blacks
wife.3. What does the woman mean? A. It" s the clerk who should
make the copies. B. The man should make the copies himself. C. She
will make the copies for the man. 4. What do they say about the
restaurant?A. Its the best place to eat in.B. They are disappointed in
Its recent change.C. They like it all the time.5. What is happening
outside? A. Itis raining slightly. B. It is raining heavily. C. Itis
shining. 0 OO (0150 000 O 0O1.50,002250)0 0 0O 50
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the two speakers both want to do in the coming new year? A. To save
some money. [ B. To work harder. C. To lose weight.7. What did



Henry do last year? A. He joined a health club. B. He stopped
smoking. C. Hegotagood job.J O 700 0O O O 0O O 080 U 100
[1 8. Why did the man talk to the woman? A. He wanted to buy a
house. B. He wanted to get a job. C. He wanted to rent a flat.9. What
Is the flat the man is interested in?A. It has a bathroom and one
bedroom. B. It has two bedrooms and a sitting room.C. It has a
Kitchen but it hasnt a bathroom.10. How much will the man pay for
the biggest one each year? A. 3,600 dollars. B. 2,400 dollars. C. 3,000
dollars.0 O 800 U O 0O 0O O 0110 OO 130 00 11. Where are they
planning to go in the morning? A. To a park. B. To an art museum.
C. To ashopping center.12. Why does the man want to visit the zoo
In the afternoon? A. The zoo will be closed the rest of the week. B.
The zoo is free to visitors that day only. C. There are unusual animals
on display.13. Why does the woman want to go shopping instead? A.
She wants to buy souvenirs of their visit. B. She saw some nice clothes
at a shopping center. C. She wants to buy a gift for her friend.[J (1 9
0000000140 O 160 O 14. Where does the dialogue take
place? A. At the airport. B. In a railwayl] [ [ station. C. In a
restaurant.15. Whats the womans baggage number? A. 703-9962. B.
703-9926. C. 703-1926.16. What time might it probably be when the
dialogue took place? A. In the morning. B. At noon. C. In the
afternoon.J 0 100 0 0 0O 0O 0O O 170 0O 200 O 17. How did the
speakers friends feel about his change of interest?A. They were very
glad about it.B. They were afraid he wasnt fully prepared.C. They
were puzzled by his decision.18. Why did the speaker change his
Interest to underwater exploration?A. It is much cheaper than space



travel.B. It is much safer than space travel.C. It is more exciting than
space travel.19. In what way does the speaker think diving is similar
to space travel?A. They both attract scientists attention.B. They are
both expensive.C. They can both be quite challenging.20. Why does
the speaker give this talk?A. To explain the danger of exploring
space.B. To explain why he took up underwater exploration.C. To
show how simple divingcan be. 100Test 1 O O OO0 OO OO O
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